

つぎの計算をしましょう。

$$(1) \quad \underline{8\text{cm}9\text{mm}} - \underline{4\text{cm}} = 4\text{cm}9\text{mm}$$

$$(2) \quad \underline{7\text{cm}8\text{mm}} - \underline{2\text{cm}} = 5\text{cm}8\text{mm}$$

$$(3) \quad \underline{9\text{cm}5\text{mm}} - \underline{2\text{cm}3\text{mm}} = 7\text{cm}2\text{mm}$$

$$(4) \quad \underline{13\text{cm}8\text{mm}} - \underline{8\text{cm}6\text{mm}} = 5\text{cm}2\text{mm}$$

$$(5) \quad \underline{12\text{cm}5\text{mm}} - \underline{4\text{cm}5\text{mm}} = 8\text{cm}$$

$$(6) \quad \underline{16\text{cm}5\text{mm}} - \underline{8\text{cm}7\text{mm}} = 7\text{cm}8\text{mm}$$

	cm	mm
	16	5
-	87	
	78	

